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A. Find the center and radius of the following equations of a circle.
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B. Complete the square of the following equations.
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C. Find the distance between the following pairs of points. Give your answer in simplified radical form

and decimal form.

13. (5,-2), (8, 4) 14. (3,6),(-4,-2)
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D. Determine whether the following lines are perpendicular, parallel or neither.
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E. Find the distance and midpoint of the following pairs of points and show the outcome on the
graphs provided.
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F. Find the slope-intercept form of the line that passes through the point and satisfies the given
conditions. B - lf)l = N (X - ka

19. Point D (-3, 5); perpendicular to 6x—3y =12 — () 20. Point M (2, 7); parallel toy= Ex =5
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21. Point C (%, 9); parallel to -5x + 9\}7=_EL_4_~§_§ 22. Point H (-4, 8); perpendlcular toy =;x +15 = -
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23. Prove or dlsprove that the thﬁng!e wnfﬁ points A ,6), B (8, -6) and C (-10, 0) are the vertices of an
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25. Determine if point A lies oféz—a?de with cerﬁ\e(r\%:;)c?go Al _ Pe = @‘) +(Q- D}l
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24. A new resort is being built on the shorfof a lake that is roughly circular. Claire also lives on the
lakeshore and she finds that the new resort is directly across the lake from her house. If the lake is put
on a coordinate plane with x and y in miles, the coordinates of Claire’s house are (0.5,-1.2) and the

coordinates of the new resort are (-0.5, 1.2). SRSl i \ ’2,
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a) Is the center of the lake at the origin? Explain. Mig

5.
b) Find an equation that models the shoreline of the lake. g\op@ N f\_%_:._}_:_)- - -2 4
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¢) If Claire’s boat is sitting at the coordinates of (0.3, 1.25), is her boat in or out of the water?
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26. Melissa lives at the corner of 3rd Street and 28th Avenue. Her sister Rebecca lives at the corner of
27th Street and 16th Avenue. Find the cross street that: M = rg 21\
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27. ABCD has verttcesA(l 2)B {2, 5)C(4 3)D (5 6). Determme which'typeof : :
polygon this is. Prove sertion. Find the area and perimeter of the polygon. D '
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28. EFGH has vertices E (4, 1) F (-2, 3) G (2, -5) H (-4, -3). Determine Wthh type of

polygon this is. Prove your assertion. Find the area and the perimeter of the

polygon. ?O\L\%O‘(‘x "@ A(QQ@
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G. Write each equation in standard form for the equation of a circle. State the center and radius.

( 150) 30. 0 +4x+ 10y +y?2 =0
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29. 2x2+6x—13+2y2—1—0

%% ¥ DR xY = |
KT AR 2 X 7 x




